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RELAÇÃO DO AÇO

P70-L3 P70-L2 P70-L1

P71-L3 P71-L2 P71-L1

P72-L3 P72-L2 P72-L1

P73-L3 P73-L2 P73-L1

P74-L3 P74-L2 P74-L1

P77-L3 P77-L2 P77-L1

P78-L3 P78-L2 P78-L1

P79-L3 P79-L2 P79-L1

P80-L3 P80-L2 P80-L1

AÇO N DIAM
QUANT

C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 306 81 24786

2 5.0 108 57 6156

3 5.0 24 25 600

CA50 4 10.0 46 77 3542

5 10.0 36 253 9108

6 10.0 36 199 7164

7 10.0 10 67 670

RESUMO DO AÇO

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 0%

(kg)

CA50 10.0 204.8 126.3

CA60 5.0 315.4 48.6

PESO TOTAL

(kg)

CA50 126.3

CA60 48.6

Volume de concreto (C-30) = 1.82 m³

Área de forma = 36.45 m²
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